Thursday.notebook February 19, 2021

Fluency Fifteen [ 25221

Place Value

1. What is the value of the underlined digit? 484.78
2. Find 27 more than 2700
3. Use the symbols < > or = to make this correct.
44+4 ()56+7
4. Put these numbers in ascending order:
82 864 -395 646 -467
How many centimetres are in 3m?
Convert 4.7cm into millimetres.
Round 2847 to the nearest 100.
Round 3443 to the nearest thousand.
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Find the missing number:

J I |
407 ? 385

10. Complete the sequence: 567, 577,587, ,
Addition and subtraction
11. 7384 + 224
12. Find the difference between 8982 and 2345
Multiplication and division
13.837 x3 =
14. 738 divided by 4 =
Fractions
1515 + 4
27 27
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